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Formula Sheet for Laplace Transform Ll/ (f)} — . g2 "} (1)dt
O

y L{l} == L{t"} = T n is a positive integer
2) L{sin/c/}:Sz j:kz L{coskt}:s2 ik?‘
! 1
3) Lie” } =
S =@
g L{e” ()} = E CUF () s j= e S0
5y L{g()U(t-a)}=e“L{igt+a)} L {e“F(s)}=f(-a)U(t-a)
6) L{U(t-al B L“{e_ \=U(t—a)
S D
N LIF" () =s"Fls) - s"" £(0)=5"" f'(0) i {8
N l an | -
o LI FE@=Er ) 8 E
ds ds
9) L{f(t)*g(t) }=F(s).G(s) fHO*g)=| f(z)glt—r)dr
i
0 2 f ez = T LHF($).G(9)) = £(0)* g1
11y Lid)) =1 Li6(t—t, )} =e
o . —— /’”"‘“—‘_——/{’_“ :
12) If f(¢) is periodic with period [’ then L{f([)} = : " j B f(l)d[
e
/
L5 (fcydy 3: &Y
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fly =Y F@)} = . Fls)=L{f®)
L =1 = L{}== (s30)
2. fh)y=t = £{t}=;1-5 (s > 0) .
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6. f(t) = silnat = F
7. flt) = cosat =

8. Jjit) =sinhat = L{sinhat}= g (s> |a])
' 8
7 f(f’? -coshat =» L{COSh Gt} - 23 - at (3 & Ia’l)

. b el
0 = etsinbt = L{e™sinbt} = o (0> o) 8

—a)? +b%

) | ”:,h-' p— Egﬁ COB bt —_ L{eat COS bt} i

13- f"\é) = vc(t:‘ '”'_-} £{uc(t)} =

=u ()t =cf =
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